KEY
Stai 2470, Quiz #8, Spring 2014 Name — Nt

Instructions: Show all work. You may use your calculator rather than compute formulas by hand, but if
you|do, ‘show work’ by saying which Program you used to obtain the result and what information you
entered. Round measures of center to one decimal place more than the data, and variance/standard
deviation to two decimal places more than the original data. Round probabilities to three decimal

places

L.

(or percent plus one decimal place).

Considetthe joint probability distribution p(x,y) shown here.

p(x,y) y
0 1 1 2 3
0 0.08 0.07 0.06 0.04 25
X 1 0.06 0.15 0.13 0.10 44
2 0.05 0.04 0.04 0.07 .20
3 000 | 0.04 0.05 0.06 j AS
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a. Whatis P(X = 2)? ° 2.
b.- WhatisP(X =¥)? 084 ,1S + 4 +.06 = 33

. Find px(x), & py (y).
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d. What s pyy forY = 3?
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Consider the joint probability distribution £ (x, y) = 12x%y%,0<x<1,0<y < 1.
a. Verify that this is a valid probability distribution.
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b. Whatis P(Y > 1~ X)?
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